



Nombre del alumno:

Litzy Fernanda Domínguez León

Nombre del profesor:

Juan José Ojeda Trujillo

Nombre del trabajo:

Súper nota

Grado: 4to

Grupo: A

Materia: calculo

Bachillerato en enfermería general

$$1. Y = x^5 + 5x^4 - 10x^2 + 6$$

$$Y' = \frac{d}{dx}(x^5) + 5 \frac{d}{dx}(x^4) - 10 \frac{d}{dx}(x^2) + \frac{d(6)}{dx}$$

$$= 5x^4 + 20x^3 - 20x$$

$$2. Y = 3x^{1/2} - x^{3/2} + 2x^{-1/3}$$

$$Y' = 3 \frac{d}{dx}(x^{1/2}) - \frac{d}{dx}(x^{3/2}) + 2 \frac{d}{dx}(x^{-1/3})$$

$$Y' = \frac{3}{2} x^{-1/2} - \frac{3}{2} x^{1/2} - \frac{2}{3} x^{-4/3}$$

$$Y' = \frac{3/2}{\sqrt{x}} - \frac{3}{2} \sqrt{x} - \frac{2}{3} \sqrt[3]{x^2}$$

$$3. Y = \frac{1}{2} x^{-2} + 4x^{-1/2}$$

$$Y' = \frac{1}{2} \frac{d}{dx}(x^{-2}) + 4 \frac{d}{dx}(x^{-1/2})$$

$$Y' = -x^{-1} - 2x^{-3/2}$$

$$Y' = -\frac{1}{x} - \frac{2}{\sqrt{x^3}}$$

$$4. Y' = \sqrt{2x} + 2\sqrt{x}$$

$$Y = \sqrt{2} \sqrt{x} + 2\sqrt{x}$$

$$Y' = \frac{\sqrt{2}}{2} \frac{d}{dx}(x^{1/2}) + \frac{2}{2} \frac{d}{dx}(x^{1/2})$$

$$Y' =$$

$$Y' = \frac{\sqrt{2}}{2} x^{1/2} + x^{-1/2}$$

$$Y' = \frac{\sqrt{2}}{2\sqrt{x}} + \frac{1}{\sqrt{x}}$$

$$Y' = \frac{1}{2} \frac{\sqrt{2}}{x} + \frac{1}{\sqrt{x}}$$

$$5. F(t) = \frac{2}{\sqrt{t}} + \frac{6}{\sqrt[3]{t}}$$

$$F'(2) = 2^{-1/2} + 6t^{-4/3}$$

$$F'(t) = 2t^{-3/2} + 6t^{-4/3}$$

$$F'(t) = \frac{-2}{\sqrt{t^3}} + \frac{6}{\sqrt[3]{t^4}}$$

$$6. y = (1-5x)^6$$

$$y' = 6(1-5x)^5 \cdot \frac{d}{dx}(1-5x)$$

$$y' = -30(1-5x)^5$$

$$7. F(x) = (3x - x^3 + 1)^4$$

$$F'(x) = 4(3x - x^3 + 1)^3 \frac{d}{dx}(3x - x^3 + 1)$$

$$F'(x) = 4(3x - x^3 + 1)^3 (3 - 3x^2)$$

$$F'(x) = (12 - 12x^2)(3x - x^3 + 1)^3$$

$$8. y = (3 + 4x - x^2)^{1/2}$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{-1/2} \frac{d}{dx}(3 + 4x - x^2)$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{1/2} (4 - 2x)$$

$$y' = \frac{y - 2x}{\sqrt{3 + 4x - x^2}}$$